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Affine Systems
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Controllability
 xf is U-reachable from x0 if given a neighborhood U of x0 containing xf, 

there exists tf>0 and u(t) on [0,tf] such that x0 goes to xf along a 
trajectory contained entirely in U. 

 The system is locally reachable from x0 if for each neighborhood U of 
x0 the set of states U-reachable from x0 contains a neighborhood of x0. 
If the reachable set contains merely an open set the system is locally 
weakly reachable from x0 .

 The system is locally (weakly) controllable if it is locally (weakly) 
reachable from every initial state.

R. Hermann and A. J. Krener, "Nonlinear Controllability and Observability," IEEE 
Transactions on Automatic Control, vol. 22, pp. 728-740, 1977

0x

0x

neighborhood

Open
set



Controllability Distributions
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Controllability Rank Condition

Proposition:
A necessary and sufficient condition for the system to be locally 
weakly controllable is

A necessary and sufficient condition for the system to be locally 
controllable is
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Example: Linear System Controllability
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Example: Linear System Continued
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Example: Wheeled Robot
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Wheeled Robot 3

{ }0

2

2
3

1 0
span drive,rotate tan , 0

1

1 0 0
tan , 0 sec

1 0

0
span drive,rotate, sec

0
I

θ
θ

θ θ
θ

θ

    
    ∆ = =     
        

      
      =      
            

  
   =  
    

sideslip

1

2

3

4
5

6

6



Implementing Lie Bracket
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Example: Extended Wheeled Robot
The extended system includes dynamics and , :
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Example: Extended Wheeled Robot - 2
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Example: Parking
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Parking, Continued
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Example: Parking, new directions from 
Lie bracket
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Parking, Continued
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Recall Lie Bracket 
Interpretation as Commutator 
of Flows

Let us consider the Lie bracket as a commutator of flows. Beginning at point x
in M follow the flow generated by v for an infinitesimal time which we take as
for convenience. This takes us to point

Then follow w for the same length of time, then -v, then -w. This brings us to a
point ψ given by
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Example: Parking, 
implementation
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More Controllability Distributions
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Example: Linear Systems Revisited
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Controllability Hierarchy
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